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B.Tech 6th Semester Bpecial Exam., 2020

MICROPROCESSOR AND ITS APPLICATION

Time : 3 hours Full Marks : 70

Instructions :
(il The marks are indicated in the right-hand margin.
(i} There are NINE questions in this paper.
(iii) Attempt FIVE questions in all.
(iv) Question No. 1 is compulsory.

1. Choose the correct alternative (any seuven) :

2x7=14
(a) Intel 8085 microprocessor came in the
year
(i) 1971
fii) 1973
(iii) 1975

fiv) None of the above

(b) 8259 is a
(i) programmable peripheral interface

A — | -

fc)

(d)

fe)

20AK/872

(2)

The microprocessor 8085 has
basic instructions and opcodes.

fij 80,246
(i) 70,346
fiii) 70,246
fiv} 80,346

Which one is the non-maskable
interrupt of 80857

fil INTR

fiij TRAP

fiiij RST 7.5

fiv) None of the above

Which is the correct order on time
scale?

fi) Instruction Cycle > Machine Cycle>
T State

(i) T State > Machine Cycle >
Instruction Cycle

(iii) Machine Cycle > T State >
Instruction Cycle

fiv) None of the above

( Continued )
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(a)

N Now Many Hupa e BB
Mt onmer hua?

4
Ji) b
{ii) &

fiv) 3

7} What in Incorrect for BOB6 processor?
i) BOBG Is 16-hit procensor
fii) Data bus is 16-bit wide

(it} Addresa bus in 32-blt wide

fiv) It han instruction for multipli-
cation operation

(h) The RST instruction of BOBS is
fi) 1 byte inatruction
fiij} 2 byte instruction
fiii} 3 byte instruction

(iv) None of the above

{ Turn Over )
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(4 )

(i) 8255 has
(i) one mode of opcration
(i) two mode of opcration
fui) three mode of operation

(it} four mode of operation

(! The output of XRA A instruction for any
value of A is

(i) 00 H
(i) FF H
(n) Any of the two on some condition

(iv) None of these two

2. fa) Discuss in detail the register
organization of 8085 microprocessor.

(b) Categorize the instructions of 8085
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3. (a) Writ
¢
. the Complete instruction, size of

Instruct;
and U:n. number of machinc cycles
inamcg dressing  mode for  the

O mnemonics given below : 8

XRA, STAX, MOV & DCX

b .
{(b) Exp;a:m the steps involved in “*“Memory
cad” machine cycle. Also draw the

Uming diagram of thj
this machine ]
for MVI instruction,. o 6

4, (a) Diflferentiate between the following : 8

(i) Instruction Cycle and Machine
Cycle

fii) SUB and CMP instructions

(b) Writc a dctailed note on conditional
jump instructions. 6

5. Writc an assembly language program for
performing multiplication of two 8-bit
numbers available in memory. Storc the
result in memory. Consider the case where

result is 16-bit. 14

20AK/872 { Tum Over |

7.

(b)

fa)

()

(a)

(6)

the control word configuration

Explain
he cxpanded block

of 8255. Also draw t
diagram of 8255 architecture.

Explain the DMA opecration with the
actual handshaking signal involved in.

Define each of the following terms :
microcomputer, microprocessor, micro-
controller, assembler, loader and

linker.

Explain the working of 8251 USART.
Also draw the suitable diagram. Explain
the priority  resolver and its

modes of op:rﬂticn.

Explain why internal architecture of
8086 is divided into BIU and EU. Also
give detailed working of these two

mmpﬂncnts.

AR F anommable meaaram OT
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9. fa) Explain the instructions STD, SAR,
CWD and CLI. 4

fb) List the status flags of 8086
microprocessor architecture. S

(c) Explain different types of register in
8086 microprocessor architecture.
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